396-3302Y1

12” Tall Z-Mount Tank Bracket
Sureaint Installation Instructions

=2

Ag Systems

Kit Number: 526-01-100400
Kit Description: Z-Mount Tank Mounting Kit (Fits 4”-7”’W x 5”’H bars)

Kit Number: 526-01-100500
Kit Description: Z-Mount Tank Mounting Kit (Fits 4”-7”’W x 6”’H bars)

Kit Number: 526-01-100600
Kit Description: Z-Mount Tank Mounting Kit (Fits 4”-7”’W to 7"H bars)

396-3302Y1 - 12” Z Mount Tank Bracket Page 1 Revised: 6/24/2022
Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



7] Parts List and Exploded View

SurePoint Kit: 526-01-100400
Ag Systems
= " " - "
(Fits 4"-7" Wide x 5" Tall Tool Bars)
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 420-3300Y1-BK Z Mount Bracket - 12" Tall 2
2 400-2015A1-BK Z Mount HD Backer Plate 2
3 300-100200-5 5/8" x 2" Bolt G5 4
4 330-10 5/8" Flat Washer 4
5 323-10 5/8" Flange Nut 4
6 300-120800-8 3/4" x 8" Bolt G8 4
7 330-12-8 3/4" Flat Washer G8 8
8 331-12-8 3/4" Lock Washer G8 4
9 323-12 3/4" Flange Nut 4

SurePoint Accelerator (55, 110 and 155 gallon) or Catalyst™ (55 and 110 Gallon) tanks
can be mounted above and offset from a toolbar using this z-mount bracket.

396-3302Y1 - 12” Z Mount Tank Bracket Page 2 Revised: 6/24/2022
Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



7] Parts List and Exploded View

SurePoint Kit: 526-01-100500
Ag Systems
= " " - "
(Fits 4"-7" Wide x 6" Tall Tool Bars)
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 420-3300Y1-BK Z Mount Bracket - 12" Tall 2
2 400-2015A1-BK Z Mount HD Backer Plate 2
3 300-100200-5 5/8" x 2" Bolt G5 4
4 330-10 5/8" Flat Washer 4
5 323-10 5/8" Flange Nut 4
6 300-120900-8 3/4" x 9" Bolt G8 4
7 330-12-8 3/4" Flat Washer G8 8
8 331-12-8 3/4" Lock Washer G8 4
9 323-12 3/4" Flange Nut 4

SurePoint Accelerator (55, 110 and 155 gallon) or Catalyst™ (55 and 110 Gallon) tanks
can be mounted above and offset from a toolbar using this z-mount bracket.

396-3302Y1 - 12” Z Mount Tank Bracket Page 3 Revised: 6/24/2022
Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



7] Parts List and Exploded View

SursPoint Kit: 526-01-100600
Ag Systems
= [[] (/] = (/]
(Fits 4"-7" Wide x 7" Tall Tool Bars)
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 420-3300Y1-BK Z Mount Bracket - 12" Tall 2
2 400-2015A1-BK Z Mount HD Backer Plate 2
3 300-100200-5 5/8" x 2" Bolt G5 4
4 330-10 5/8" Flat Washer 4
5 323-10 5/8" Flange Nut 4
6 300-121000-8 3/4" x 10" Bolt G8 4
7 330-12-8 3/4" Flat Washer G8 8
8 331-12-8 3/4" Lock Washer G8 4
9 323-12 3/4" Flange Nut 4

SurePoint Accelerator (55, 110 and 155 gallon) or Catalyst™ (55 and 110 Gallon) tanks
can be mounted above and offset from a toolbar using this z-mount bracket.

396-3302Y1 - 12” Z Mount Tank Bracket Page 4 Revised: 6/24/2022
Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



ﬁ SurePoint Accelerator Tanks
SurePpint General Dimensions

M
Ag Systems
\Overoll Height 56.2in

(55 & 110 Gallon)

! ©
[55.68in] g =
1414.27mm ous on
Overall Height ®® Rinse tank valve
(155 Gallon) can be removed to
reduce by 3 1/2"
‘ h_©° o o o JI
[12.38in]
314.45mm
Over Planter
‘ L ] Possible vacuum LPIon‘rer box shown
tube location in extreme up position.
(If applicable)
[2.4in] i j [21.8in]
61mm . 553mm
Forward of Planter Rearward of
Toolbar Planter Toolbar

The mounting brackets can be adjusted under
the Accelerator Tank base using any of the
multiple slots in the tank base for flexible

mounting options.

.?i'y-
Revised: 6/24/2022

396-3302Y1 - 12” Z Mount Tank Bracket Page 5
Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.



ﬁ SurePoint Accelerator Tanks
SurePpint General Dimensions

Ag Systems
190
- _ - 1 55 Gallon Tank
f 7| Tl [ [07) WHITE POLY TANK
] } [18.5] 17
l:] 470 (5/8" BOLTS)
' =3 (=] [= 3 == ]
[7.9]
200
ALLBOLT SLOTS | __ [24.1]

1 1

"'\-\.\_\_\_\_\-\_- \
| ] — - AT
II.'/n'. = :\\III J:-_____-:-‘J-\ Y "'-"--. -‘ ——
[ \\ ( \ \ BLACK POLY /
[ . /| AN RINSE WATER /
|| | (Dua ) B
, ! 872 a @584 ) J
iy -. 4
! \ )Z 116" STEEL BASE WITH
/ - BLACK POWDERCOAT

-] (=l

WHITE POLY
[ 45.9in] | ][.??in] — / TANK
1 698mm S@n 4 (5/8BOLT) m 77N
r_E = = [=] [=] = oy _

i

j |
[20.4in] . -
518mm

= = [=] [=] [o=] = = [} —
- L - i= T . ‘ .
[7.5in] 3 —[312n]
200mm 792mm \ \—3/14" STEEL BASE WITH
' 1 — | BLACK POWDERCOAT
| ""=‘=T:="-::' -:_=_— _—‘_- = |
[ [43.1in] / % \—BLACK POLY
[ 1096mm |/ 3 RINSE WATER
[ ' TANK

110 and 155
Gallon Tank

155 shown - 110 Gallon
only differs in total height.
110 Total Height is 34.9 in.

@ i ul i
[72.6in] -
1845mmn
396-3302Y1 - 12” Z Mount Tank Bracket Page 6 Revised: 6/24/2022

Instruction Sheet © 2015-2022 SurePoint Ag Systems, Inc.





